Introduction to Managerial Accounting, 1st Edition, by Folk, Garrison, and Noreen

Alternate Problems-Set A, Chapter 9


PROBLEM 9-1A

Preparing a Performance Report

(LO2, LO3, LO6)

CHECK FIGURE

(3) Total of spending and budget variances: $4,000 U

Several years ago, Westmont Company developed a comprehensive budgeting system for profit planning and control purposes. The line supervisors have been very happy with the system and with the reports being prepared on their performance, but both middle and upper management have expressed considerable dissatisfaction with the information being generated by the system.


A typical manufacturing overhead performance report for a recent period is shown below:

	
	Westmont Company 

	
	Overhead Performance Report—Assembly Department

	
	For the Quarter Ended March 31

	
	
	
	
	
	

	
	
	Actual
	Budget
	Variance
	

	
	Machine-hours

	46,000
	50,000
	
	

	
	
	
	
	
	

	
	Variable overhead costs:
	
	
	
	

	
	Indirect materials

	$  54,800
	$  60,000
	$5,200
	F

	
	Rework time

	12,200
	12,500
	300
	F

	
	Utilities

	73,300
	75,000
	1,700
	F

	
	Machine setup

	    19,500
	    20,000
	     500
	F

	
	Total variable overhead cost

	  159,800
	  167,500
	  7,700
	F

	
	Fixed overhead costs:
	
	
	
	

	
	Maintenance

	92,300
	94,000
	1,700
	F

	
	Inspection

	    85,000
	    85,000
	        0
	

	
	Total fixed overhead cost

	  177,300
	  179,000
	  1,700
	F

	
	Total overhead cost

	$337,100
	$346,500
	$9,400
	F



After receiving a copy of this overhead performance report, the supervisor of the Assembly Department stated, “These reports are super. It makes me feel really good to see how well things are going in my department. I can’t understand why those people upstairs complain so much.”


The budget data above are for the original planned level of activity for the quarter.

Required:


1.
 The company’s vice president is uneasy about the performance reports being prepared and would like you to evaluate their usefulness to the company.


2.
 What changes, if any, would you recommend be made in the overhead performance report above in order to give better insight into how well the supervisor is controlling costs?


3.
 Prepare a new overhead performance report for the quarter, incorporating any changes you suggested in (2) above. (Include both the variable and the fixed costs in your report.)

PROBLEM 9-2A

Preparing a Performance Report

(LO2, LO3)

CHECK FIGURE

(1) Flexible budget total cost at 840 liters: $55,970

The St. Lucia Blood Bank, a private charity partly supported by government grants, is located on the Caribbean island of St. Lucia. The Blood Bank has just finished its operations for September, which was a particularly busy month due to a powerful hurricane that hit neighboring islands causing many injuries. The hurricane largely bypassed St. Lucia, but residents of St. Lucia willingly donated their blood to help people on other islands. As a consequence, the Blood Bank collected and processed over 20% more blood than had been originally planned for the month.


A report prepared by a government official comparing actual costs to budgeted costs for the Blood Bank appears below. (The currency on St. Lucia is the East Caribbean dollar.) Continued support from the government depends on the Blood Bank’s ability to demonstrate control over their costs.

	
	St. Lucia Blood Bank

	
	Cost Control Report

	
	For the Month Ended September 30

	
	
	
	
	
	

	
	
	Actual
	Budget
	Variance

	
	Liters of blood collected

	       840
	       690
	     150
	

	
	
	
	
	
	

	
	Variable costs:
	
	
	
	

	
	Medical supplies

	$10,340
	$  8,280
	$2,060
	U

	
	Lab tests

	4,650
	4,485
	165
	U

	
	Refreshments for donors

	4,250
	3,450
	800
	U

	
	Administrative supplies

	    1,500
	    1,380
	    120
	U

	
	Total variable cost

	  20,740
	  17,595
	 3,145
	U

	
	Fixed costs:
	
	
	
	

	
	Staff salaries

	25,000
	25,000
	0
	

	
	Equipment depreciation

	6,800
	6,300
	500
	U

	
	Rent

	2,500
	2,500
	0
	

	
	Utilities

	       850
	       750
	     100
	U

	
	Total fixed cost

	  35,150
	  34,550
	     600
	U

	
	Total cost

	$55,890
	$52,145
	$3,745
	U



The managing director of the Blood Bank was very unhappy with this report, claiming that his costs were higher than expected due to the emergency on the neighboring islands. He also pointed out that the additional costs had been fully covered by payments from grateful recipients on the other islands. The government official who prepared the report countered that all of the figures had been submitted by the Blood Bank to the government; he was just pointing out that actual costs were a lot higher than promised in the budget.

Required:


1.
 Prepare a new performance report for September using the flexible budget approach. (Note: Even though some of these costs might be classified as direct costs rather than as overhead, the flexible budget approach can still be used to prepare a flexible budget performance report.)


2.
 Do you think any of the variances in the report you prepared should be investigated? Why?

PROBLEM 9-3A

Comprehensive Standard Cost Variances

(LO4, LO6)

CHECK FIGURE

(1) Standard cost: $89.60

(3) Volume variance: $8,120 F

Flandro Company uses a standard cost system and sets predetermined overhead rates on the basis of direct labor-hours. The following data are taken from the company’s budget for the current year:

	
	Denominator activity (direct labor-hours)

	25,000

	
	Variable manufacturing overhead cost

	$65,000

	
	Fixed manufacturing overhead cost

	$145,000


The standard cost card for the company’s only product is given below:

	
	Direct materials, 5 yards @ $5.20 per yard

	$26.00

	
	Direct labor, 4 DLHs @ $7.50 per DLH

	30.00

	
	Manufacturing overhead

	  33.60

	
	Standard cost per unit

	$89.60


During the year, the company produced 6,600 units of product and incurred the following costs:

	
	Materials purchased 35,400 yards @ $5.50 per yard

	$194,700

	
	Materials used in production (in yards)

	31,500

	
	Direct labor cost incurred 26,000 DLHs @ $7.60 per DLH

	$197,600

	
	Variable manufacturing overhead cost incurred

	$69,700

	
	Fixed manufacturing overhead cost incurred

	$143,000


Required:


1.
 Redo the standard cost card in a clearer, more usable format by detailing the variable and fixed overhead cost elements.


2.
 Prepare an analysis of the variances for materials and labor for the year.


3.
 Prepare an analysis of the variances for variable and fixed overhead for the year.


4.
 What effect, if any, does the choice of a denominator activity level have on unit standard costs? Is the volume variance a controllable variance from a spending point of view? Explain.

PROBLEM 9-4A

Applying Overhead; Overhead Variances

(LO4, LO5, LO6)

CHECK FIGURE

(3)
Spending variance: PZ 14,200 U


Budget variance: PZ 1,800 F

Chilczuk, S.A., of Gdansk, Poland, is a major producer of classic Polish sausage. The company uses a standard cost system to help control costs. Overhead is applied to production on the basis of labor-hours. According to the company’s flexible budget, the following manufacturing overhead costs should be incurred at an activity level of 46,000 labor-hours (the denominator activity level): 

	
	Variable overhead costs 

	PZ 138,000

	
	Fixed overhead costs

	     345,000

	
	Total overhead cost

	PZ 483,000


The currency in Poland is the zloty, which is denoted here by PZ.


During the most recent year, the following operating results were recorded:

	
	Activity:
	

	
	Actual labor-hours worked

	40,000

	
	Standard labor-hours allowed for output

	44,000

	
	Cost:
	

	
	Actual variable overhead cost incurred

	PZ 134,200

	
	Actual fixed overhead cost incurred

	PZ 343,200


At the end of the year, the company’s Manufacturing Overhead account contained the following data:

	
	 
	Manufacturing Overhead
	 

	
	Actual
	477,400
	462,000
	Applied

	
	Underapplied
	15,400
	 
	


Management would like to determine the cause of the PZ 15,400 underapplied overhead.

Required:


1.
 Compute the predetermined overhead rate. Break the rate down into variable and fixed cost elements.


2.
 Show how the PZ 462,000 applied in the Manufacturing Overhead account was computed.


3.
 Analyze the PZ 15,400 underapplied overhead in terms of the variable overhead spending and efficiency variances and the fixed overhead budget and volume variances.


4.
 Explain the meaning of each variance that you computed in (3) above.

PROBLEM 9-5A

Comprehensive Standard Cost Variances

(LO4, LO6)

CHECK FIGURE

(3a) Efficiency variance: $10,800 U

(3b) Volume variance: $27,000 F

“Wonderful! Not only did our salespeople do a good job in meeting the sales budget this year, but our production people did a good job in controlling costs as well,” said Kim Clark, president of Martell Company. “Our $45,600 overall manufacturing cost variance is only 2.87% of the $1,587,500 standard cost of products sold during the year. That’s well within the 3% limit set by management for acceptable variances. It looks like everyone will be in line for a bonus this year.” 


The company produces and sells a single product. A standard cost card for the product follows:

	
	Standard Cost Card—per Unit of Product

	
	Direct materials, 3.0 feet at $6.50 per foot

	$19.50

	
	Direct labor, 2.2 DLHs at $12.50 per DLH

	27.50

	
	Variable overhead, 2.2 DLHs at $4.50 per DLH

	9.90

	
	Fixed overhead, 2.2 DLHs at $3.00 per DLH

	    6.60

	
	Standard cost per unit

	$63.50



The following additional information is available for the year just completed:


a.
The company manufactured 25,000 units of product during the year.


b.
A total of 78,100 feet of material was purchased during the year at a cost of $6.60 per foot. All of this material was used to manufacture the 25,000 units. There were no beginning or ending inventories for the year.


c.
The company worked 57,400 direct labor-hours during the year at a cost of $12.60 per direct labor-hour.


d.
Overhead is applied to products on the basis of direct labor-hours. Data relating to manufacturing overhead costs follow:

	
	Denominator activity level (direct labor-hours)

	46,000

	
	Budgeted fixed overhead costs (from the overhead flexible budget)

	$138,000

	
	Actual variable overhead costs incurred

	$253,100

	
	Actual fixed overhead costs incurred

	$141,300


Required:


1.
Compute the direct materials price and quantity variances for the year.


2.
Compute the direct labor rate and efficiency variances for the year.


3.
For manufacturing overhead compute:


a.
The variable overhead spending and efficiency variances for the year.


b.
The fixed overhead budget and volume variances for the year.


4.
Total the variances you have computed, and compare the net amount with the $45,600 mentioned by the president. Do you agree that bonuses should be given to everyone for good cost control during the year? Explain.

PROBLEM 9-6A

Using Fixed Overhead Variances

(LO6)

CHECK FIGURE

(1) Standard DLHs allowed: 61,200 DLHs

The standard cost card for the single product manufactured by Cutter, Inc., is given below:

	
	Standard Cost Card—per Unit

	
	Direct materials, 8.0 yards at $8.25 per yard

	$  66.00

	
	Direct labor, 6.0 DLHs at $10.00 per DLH

	60.00

	
	Variable overhead, 6.0 DLHs at $2.50 per DLH

	15.00

	
	Fixed overhead, 6.0 DLHs at $6.00 per DLH

	    36.00

	
	Total standard cost per unit

	$177.00


Manufacturing overhead is applied to production on the basis of direct labor-hours. During the year, the company worked 58,000 direct labor-hours and manufactured 10,200 units of product. Selected data relating to the company’s fixed manufacturing overhead cost for the year are shown below: 

	
	Actual Fixed Overhead Cost
	
	Flexible Budget Fixed Overhead Cost
	
	Fixed Overhead Cost Applied to Work in Process

	
	$371,600
	
	      ?      
	
	    ?    DLHs 
× $    ?     per DLH 
= $    ?    

	
	
	
	
	
	

	
	
	
	
	
	

	
	
Budget Variance, $    ?      
Volume Variance, $15,000 U



Required:


1.
 What were the standard direct labor-hours allowed for the year’s production?


2.
 What was the amount of fixed overhead cost contained in the flexible budget for the year?


3.
 What was the fixed overhead budget variance for the year?


4.
 What denominator activity level did the company use in setting the predetermined overhead rate for the year?

PROBLEM 9-7A

Relations Among Fixed Overhead Variances

(LO6)

CHECK FIGURE

(3) Volume variance: $1,600 F

Selected information relating to Yost Company’s operations for the most recent year is given below:

	
	Activity:
	
	

	
	Denominator activity (machine-hours)

	32,000
	

	
	Standard machine-hours allowed per unit

	6.0
	

	
	Number of units produced

	5,400
	

	
	Costs:
	
	

	
	Actual fixed overhead costs incurred

	$127,000
	

	
	Fixed overhead budget variance

	$1,000
	F


The company applies overhead cost to products on the basis of machine-hours.

Required:


1.
 What were the standard machine-hours allowed for the actual production?


2.
 What was the fixed portion of the predetermined overhead rate?


3.
 What was the volume variance?

PROBLEM 9-8A

Flexible Budget and Overhead Performance Report

(LO1, LO2, LO3)

CHECK FIGURE

(2) Total of spending and budget variances: $7,700 U

You have just been hired by FAB Company, the manufacturer of a revolutionary new garage door opening device. John Foster, the president, has asked that you review the company’s costing system and “do what you can to help us get better control of our manufacturing overhead costs.” You find that the company has never used a flexible budget, and you suggest that preparing such a budget would be an excellent first step in overhead planning and control.


After much effort and analysis, you are able to determine the following cost formulas for the company’s normal operating range of 30,000 to 40,000 machine-hours each month:

	
	Overhead Costs
	Cost Formula

	
	Utilities

	$1.20 per machine-hour

	
	Maintenance

	$2.40 per machine-hour plus $35,000 per month

	
	Machine setup

	$0.20 per machine-hour

	
	Indirect labor

	$0.60 per machine-hour plus $150,000 per month

	
	Depreciation

	$60,000 per month


To show the president how the flexible budget concept works, you have gathered the following actual cost data for the most recent month, March, in which the company worked 34,000 machine-hours and produced 22,000 units: 

	
	Utilities

	$  42,600

	
	Maintenance

	119,200

	
	Machine setup

	6,700

	
	Indirect labor

	174,300

	
	Depreciation

	    59,500

	
	Total cost

	$402,300


The only variance in the fixed costs for the month was for depreciation, which was increased as a result of a purchase of new equipment. 


The company had originally planned to work 40,000 machine-hours during March.

Required:


1.
 Prepare a flexible budget for the company in increments of 5,000 hours.


2.
 Prepare an overhead performance report for the company for March. (Use the format illustrated in Exhibit 
9–11.)


3.
 What additional information would you need to compute an overhead efficiency variance for the company?

PROBLEM 9-9A

Overhead Performance Report

(LO2, LO4)

CHECK FIGURE

(2) Total variance: $9,900 F 

Frank Weston, supervisor of the Machining Department for Freemont Company was visibly upset after being reprimanded for his department’s poor performance over the prior month. The department’s performance report is given below:

	
	 Freemont Company 

	
	Performance Report—Machining Department 

	
	
	
	
	
	
	

	
	
	Cost Formula (per machine-hour)
	Actual
	Budget
	Variance
	

	
	Machine-hours

	
	53,000
	51,000
	
	

	
	
	
	
	
	
	

	
	Variable overhead costs:
	
	
	
	
	

	
	Utilities

	$0.80
	$ 44,300
	$  40,800
	$  3,500
	 U 

	
	Indirect labor

	3.00
	153,900
	153,000
	900
	 U 

	
	Supplies

	1.30
	69,200
	66,300
	2,900
	 U 

	
	Maintenance

	  2.60
	  138,000
	  132,600
	    5,400
	 U 

	
	Total variable overhead cost

	$7.70
	  405,400
	  392,700
	  12,700
	 U 

	
	Fixed overhead costs:
	
	
	
	
	

	
	Supervision

	
	46,000
	46,000
	0
	

	
	Maintenance

	
	67,500
	67,000
	500
	 U 

	
	Depreciation

	
	  70,000
	    70,000
	           0
	

	
	Total fixed overhead cost

	
	 183,500
	  183,000
	       500
	 U 

	
	Total overhead cost

	
	$588,900
	$575,700
	$13,200
	 U 



“I just can’t understand all the red ink,” said Frank Weston to Sarah Mason, supervisor of another department. “When the boss called me in, I thought he was going to give me a pat on the back because I know for a fact that my department worked more efficiently last month than it has ever worked before. Instead, he tore me apart. I thought for a minute that it might be over the supplies that were stolen out of our warehouse last month. But they only amounted to a couple of thousand dollars, and just look at this report. Everything is unfavorable, and I don’t even know why.” 


The budget for the Machining Department had called for production of 17,000 units last month, which is equal to a budgeted activity level of 51,000 machine-hours (at a standard time of 3.0 hours per unit). Actual production in the Machining Department for the month was 18,000 units.

Required:


1.
 Evaluate the overhead performance report given above and explain why the variances are all unfavorable.


2.
 Prepare a new overhead performance report that will help managers assess how well Frank Weston was able to control costs and enhance efficiency in the Machining Department. (Hint: Exhibit 9–7 may be helpful in structuring your report; however, the report you prepare should include both variable and fixed costs.)


3.
Would the supplies stolen out of the warehouse be included as part of the variable overhead spending variance or as part of the variable overhead efficiency variance for the month? Explain.

PROBLEM 9-10A

Applying Overhead; Overhead Variances

(LO4, LO5, LO6)

CHECK FIGURE

(2) Standard cost: $74.00

(3) Volume variance: $40,000 F

Lane Company manufactures a single product that requires a great deal of hand labor. Overhead cost is applied on the basis of direct labor-hours. The company’s condensed flexible budget for manufacturing overhead is given below: 

	
	
	Cost Formula (per direct
	 Direct Labor-Hours 

	
	Overhead Costs
	labor-hour)
	20,000
	30,000
	40,000

	
	Variable costs

	$3.00
	$  60,000
	$  90,000
	$120,000

	
	Fixed costs

	
	  300,000
	  300,000
	  300,000

	
	Total overhead cost

	
	$360,000
	$390,000
	$420,000



The company’s product requires 4.0 pounds of material that has a standard cost of $6.00 per pound and 2.0 hours of direct labor time that has a standard rate of $12.00 per hour. 


The company planned to operate at a denominator activity level of 30,000 direct labor-hours and to produce 15,000 units of product during the most recent year. Actual activity and costs for the year were as follows: 

	
	Number of units produced

	17,000

	
	Actual direct labor-hours worked

	35,000

	
	Actual variable overhead cost incurred

	$101,500

	
	Actual fixed overhead cost incurred

	$306,500


Required:


1.
Compute the predetermined overhead rate for the year. Break the rate down into variable and fixed elements.


2.
Prepare a standard cost card for the company’s product; show the details for all manufacturing costs on your standard cost card.


3.
Do the following:


a.
Compute the standard hours allowed for the year’s production


b.
Complete the following Manufacturing Overhead T-account for the year:

	
	Manufacturing Overhead

	
	?
	?

	
	?
	?



4.
Determine the reason for any under- or overapplied overhead for the year by computing the variable overhead spending and efficiency variances and the fixed overhead budget and volume variances.


5.
Suppose the company had chosen 35,000 direct labor-hours as the denominator activity rather than 30,000 hours. State which, if any, of the variances computed in (4) above would have changed, and explain how the variance(s) would have changed. No computations are necessary.
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